E
P

— e e o
g g s =93
E= MY/HIE o|O|X]
_ My
THE:
)

AHQIYA AE!1.4305.
AE|QIFA AE!1.4404.

A=0lE.

EM O]
A™ A5 OlRelE AR AEI129 A3 R
Aodxdo 2 ntRE|E AHIQIHA AEl1.4305, AE|IQIB|A AE!I A2-70

A3F,

Ao 2 OrF2|E AHIQIBA AE1.4404, AH|QIE|A AR A4-70
A3F,

Ao 2 otR2lE R 0is, AHQIEA AR A2-70 A3 F.

HH:

LIS &0| = 2T 22 FUS E/EHoZE AMTEE ST L
Ct. O|2M AFZE 24 gl0| HE 35| E0{% = I8 ofe 2 ST

2 B¥ELICH

>

tZE Q%= h11 O|LHodoF &L|Ct.

AHQlEA AT A4 ARKS| 2T YL 9|Zo| e FAIHO| EAlE
of &Lt

25 Hel:
-40 °C ~ +175 °C

AL
CHE x|
=
R B
= i o —
N
Q
|
E=Z2 Q0o
Sddyd YsEUs

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
— - —— (=)
SHIE, LUS = US
Z= 29
FEHS el Ete] 2l " & B C D1 D2 R
(DIN 912)
K0611.00401 Li=o & AR 9 M3x8 4 16 20,7
K0611.00501 Lo &% A&l 9 M3x8 5 16 20,7
K0611.00601 LHEof &3! AE 9 M3x8 6 16 20,7
K0611.00801 Li=o| & AR 9 M3x8 8 18 224
K0611.01001 Ligo] &% A&l 9 M3x10 10 24 26
K0611.01201 LHgof &3! AE] 11 M4x12 12 28 31,8
K0611.01501 Li=o & AR 13 M5x16 15 34 394
K0611.01601 LHEof 3! AE 13 M5x16 16 34 394
K0611.01801 LHEof &3! AE] 13 M5x16 18 36 41,1
K0611.02001 Li=o| &% AR 15 M6x18 20 40 464
K0611.02201 LHEof 3! AE 15 M6x18 22 42 48,1
K0611.02501 Lo & AEl 15 M6x18 25 45 508
K0611.02801 Li=o| &% AR 15 M6x18 28 48 537
K0611.03001 LHEof 3! AE 15 M6x18 30 54 586
K0611.04001 Lo &% AE 15 M6x18 40 60 65
K0611.05001 Li=o| &% AE 19 M8x25 50 78 87
K0611.00402 LHEof &3! AEQIFA AL 9 M3x8 4 16 20,7
K0611.00502 Lo & AHQIYA AE 9 M3x8 5 16 207
K0611.00602 Li=o| &% AEQIBA AE 9 M3x8 6 16 207
K0611.00802 LHEof &3! AEQIFA AE 9 M3x8 8 18 224
K0611.01002 Ligo] &% AE|QIBA AE 9 M3x10 10 24 26
K0611.01202 Li=o| &% AEQIBA AE 11 M4x12 12 28 318
K0611.01502 LHSof &3! AE|QIPA AE 13 M5x16 15 34 394
K0611.01602 LHEo| &3 AE|QIEA AE 13 M5x16 16 34 394
K0611.01802 LiEof &3 AE|QIP A AL 13 M5x16 18 36 41,1
K0611.02002 LHEof &3! AE|QIY A AE 15 M6x18 20 40 464
K0611.02202 LHEo| &3 AE|QIP A AE 15 M6x18 22 42 48,1
K0611.02502 LiEof &3 AEQIPA AL 15 M6x18 25 45 508
K0611.02802 LHSof &3! AE|QIP A AE 15 M6x18 28 48 537
K0611.03002 LIEof &3 AHQIYA AE 15 M6x18 30 54 586
K0611.04002 Ligof &3 AEQIPA AL 15 M6x18 40 60 65
K0611.05002 LHSof &3! AE|QIYA AE 19 M8x25 50 78 87
K0611.00404 LHEof &3 AHQIBA AR A4 9 M3x8 4 16 20,7
K0611.00504 Ligof &3 AHQIEA AE A4 9 M3x8 5 16 207
K0611.00604 LHEof &3! AEQIBA AR A4 9 M3x8 6 16 20,7
K0611.00804 Li=o| & AHQIBA AR A4 9 M3x8 8 18 224
K0611.01004 Ligof &3 AEHQIEA AEI A4 9 M3x10 10 24 26
K0611.01204 LHEof &3! AE|QIEIA AE A4 11 M4x12 12 28 31,8
K0611.01504 Li=o| & AHQIBA AL A4 13 M5x16 15 34 394
K0611.01604 LiEof &3 AEHQIEA AE A4 13 M5x16 16 34 394
K0611.01804 LHEof &3! AE|QIEIA AE A4 13 M5x16 18 36 41,1
K0611.02004 Li=o & AHQIHA AEI A4 15 M6x18 20 40 464
K0611.02204 Ligof &3 AEHQIEA AE A4 15 M6x18 22 42 48,1
K0611.02504 LHEof &3! AE|QIBA AE A4 15 M6x18 25 45 50,8
K0611.02804 Li=o| & AHQIHA AR A4 15 M6x18 28 48 537
K0611.03004 Ligof &3 AEHQIEA AE A4 15 M6x18 30 54 586
K0611.04004 LHEof &3! AEIQIBA AEI A4 15 M6x18 40 60 65
K0611.05004 Li=o| &% AHQIHA AL A4 19 M8x25 50 78 87
K0611.00403 LHEof &3 g0l 9 M3x8 4 16 20,7
K0611.00503 Lo & d20|E 9 M3x8 5 16 207
K0611.00603 Li=o| &% ¢20ls 9 M3x8 6 16 20,7
K0611.00803 LHEof 3! g20lE 9 M3x8 8 18 224
K0611.01003 Lo & 20| 9 M3x10 10 24 26
K0611.01203 Li=o| &% g2 0lE 11 M4x12 12 28 318
K0611.01503 LHEof 3! g20lE 13 M5x16 15 34 394
K0611.01603 Lo & g2 0lE 13 M5x16 16 34 394
K0611.01803 Li=o| &% =2 0lE 13 M5x16 18 36 41,1
K0611.02003 LHSof &3! g20lE 15 M6x18 20 40 46,4
K0611.02203 Lo & g2 0lE 15 M6x18 22 42 48,1
K0611.02503 Li=o| &% 20| 15 M6x18 25 45 508
K0611.02803 LHSof &3! g0l 15 M6x18 28 48 537
K0611.03003 Lo & 20| 15 M6x18 30 54 586
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



=eHiI] 2 = =0l
= |=|c>I °II LH—- = A
E=S oY%
FEHS el Ete] 2 A B C D1 D2 R
(DIN 912)
K0611.04003 Li=o & ¢20|5 15 M6x18 40 60 65
K0611.05003 Lo &% Q20| 19 M8x25 50 78 87

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



